STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION



DIVISION 13

CONTRACT PROPOSAL SMALL BUSINESS ENTERPRISE

DATE AND TIME OF BID OPENING: JUNE 15, 2022 AT 2:00 PM

CONTRACT ID: 12032478

WBS ELEMENT NO.: 13RE.105915, 13RE.105935, 13RE.205915, 13RE.205925,

13RE.106115, 13RE.206115, 13RE.206125

FEDERAL AID NO.: STATE FUNDED

COUNTIES: MCDOWELL AND MITCHELL COUNTIES

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required, and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time but could be required upon notification by the Department.

NAME OF BIDDER

POBOX-1527 FOVEST City

RETURN BIDS TO:

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

12032478

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.105915, 13RE.105935, 13RE.205915, 13RE.205925, 13RE.106115,

13RE.206115, 13RE.206125

Description:

Long Arm Mowing Upon Request

Counties:

McDowell and Mitchell

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Attenuator, Interstate Routes	53	SMI	450	J385D
2	SP	Long Arm Mowing with Truck Mounted Attenuator, Divided Primary Routes	18	SMI	450	8100
3	SP	Long Arm Mowing, Undivided Primary Routes	368	SMI	450	165600
4	SP	Long Arm Mowing, Secondary Routes	458	SMI	450	206100

THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, T	TOTAL BID FOR PROJECT: \$403650
I	Contractor: Little is Enterprise LLC Address: P.D. Box -152) Fovest (ity NC 28043 Phone: 828-429-5722 Federal Id: 46-2992143
I	Contractor's License Number: Authorized Agent: Title: Moyaging member Signature: Date: 6-15-22

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION



DIVISION

CONTRACT PROPOSAL SMALL BUSINESS

DATE AND TIME OF BID OPENING: JUNE 15, 2022 AT 2:00 PM

CONTRACT ID:

12032478

WBS ELEMENT NO.: 13RE.105915, 13RE.105935, 13RE.205915, 13RE.205925,

13RE.106115, 13RE.206115, 13RE.206125

FEDERAL AID NO.: STATE FUNDED

COUNTIES: MCDOWELL AND MITCHELL COUNTIES

TIP NO .:

N/A

MILES:

N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required, and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time but could be required upon notification by the Department.

RETURN BIDS TO:

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

12032478

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.105915, 13RE.105935, 13RE.205915, 13RE.205925, 13RE.106115,

13RE.206115, 13RE.206125

Description:

Long Arm Mowing Upon Request

TOTAL BID FOR PROJECT: 424,638,00

Counties:

McDowell and Mitchell

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Attenuator, Interstate Routes	53	SMI	524.00	27,772,0
2	SP	Long Arm Mowing with Truck Mounted Attenuator, Divided Primary Routes	18	SMI	52400	9, 432,0
3	SP	Long Arm Mowing, Undivided Primary Routes	368	SMI	1	181,74
4	SP	Long Arm Mowing, Secondary Routes	458	SMI	449,00	205,642

Contractor:	Jeff	McRAE	. PBA	MCR	4e	CONTRA	cting
Address:	111 Bn	TTAIN dr	murph	14 Ne	2	8906	
Phone:	828.3	61-4582	Federal Id:	242-13	- 19	18	_
Contractor's Li	cense Number	r: N/A					
Authorized Age	ent:	eff me	-RHZ	Title:	Ou	uner	
Signature:	1.16	ma Q		Date	10.0	13-22	

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION



DIVISION 13

CONTRACT PROPOSAL

DATE AND TIME OF BID OPENING: JUNE 15, 2022 AT 2:00 PM

CONTRACT ID: 12032478

WBS ELEMENT NO.: 13RE.105915, 13RE.105935, 13RE.205915, 13RE.205925,

13RE.106115, 13RE.206115, 13RE.206125

FEDERAL AID NO.: STATE FUNDED

COUNTIES: MCDOWELL AND MITCHELL COUNTIES

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required, and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time but could be required upon notification by the Department.

RETURN BIDS TO:

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number: 12032478 TIP Number: N/A

FA Number: State Funded

WBS Element: 13RE.105915, 13RE.105935, 13RE.205915, 13RE.205925, 13RE.106115,

13RE.206115, 13RE.206125

Description: Long Arm Mowing Upon Request

Counties: McDowell and Mitchell

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Attenuator, Interstate Routes	53	SMI	2500	132,500
2	SP	Long Arm Mowing with Truck Mounted Attenuator, Divided Primary Routes	18	SMI	2500	45,000
3	SP	Long Arm Mowing, Undivided Primary Routes	368	SMI	500	184,000
4	SP	Long Arm Mowing, Secondary Routes	458	SMI	500	229,000

TOTAL BID FOR PROJECT: \$590,500
Contractor: Cardina Social Inc
Contractor: Carolina Socialing Inc Address: 11780 moores ville Rd Davidson N 20036
Phone: 704-938-1096 Federal Id: 56-1790626
Contractor's License Number: 46790
Authorized Agent: Jerony Wayre Title: Wher
Signature: Date: 6-93022

STATE OF NORTH CAROLINA

DEPARTMENT OF TRANSPORTATION



DIVISION 13

CONTRACT PROPOSAL SMALL BUSINESS ENTERPRISE

DATE AND TIME OF BID OPENING: JUNE 15, 2022 AT 2:00 PM

CONTRACT ID: 12032478

WBS ELEMENT NO.: 13RE.105915, 13RE.105935, 13RE.205915, 13RE.205925,

13RE.106115, 13RE.206115, 13RE.206125

FEDERAL AID NO.: STATE FUNDED

COUNTIES: MCDOWELL AND MITCHELL COUNTIES

TIP NO.: N/A

MILES: N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required, and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time but could be required upon notification by the Department.

Atoah Contracting LLC

NAME OF BIDDER

116 Lower Mill Creek Drive, Robbinsville, NC 28771

ADDRESS OF BIDDER

RETURN BIDS TO:

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number: 12032478

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.105915, 13RE.105935, 13RE.205915, 13RE.205925, 13RE.106115,

13RE.206115, 13RE.206125

Description:

Long Arm Mowing Upon Request

Counties:

McDowell and Mitchell

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Attenuator, Interstate Routes	53	SMI	\$950.00	\$50,350.00
2	SP	Long Arm Mowing with Truck Mounted Attenuator, Divided Primary Routes	18	SMI	\$950.00	\$17,100.00
3	SP	Long Arm Mowing, Undivided Primary Routes	368	SMI	\$800.00	\$294,400.00
4	SP	Long Arm Mowing, Secondary Routes	458	SMI	\$800.00	\$366,400.00
					197334-90-00-00-00-00-00-00-00-00-00-00-00-00-	

TOTAL BID FOR PROJECT: \$728,250.00

Contractor: Atoah Contracting LLC	
Address: 116 Lower Mill Creek Drive, R	obbinsville, NC 28771
Phone: 828-735-1980	Federal Id: <u>85-3034804</u>
Contractor's License Number: N/A	
Authorized Agent: Logan Carver	Title: _ Owner
Signature:	Date: 06/14/22